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General Instructions:

1 This question paper contains 34 questions.

2. Marks are indicated against each question.

3. Answers should be brief and to the point.

4. Answers to the questions carrying 3 marks may be from 50 to 75 words.
5. Answers to the questions carrying 4 marks may be about 150 words.

6. Answers to the questions carrying 6 marks may be about 200 words.

7. Attempt all parts of the questions together.

TIME: 3 HOURS
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Q. No. Question

Marks

members by securing a favorable market for the products.

(A) Consumer’s cooperative societies
(B) Producer’s cooperative societies
(C) Marketing cooperative societies
(D) Farmer’s cooperative societies

BT e ST 3 370 Heredt o wfereaelf Reufer & gum e &1

T [The society aims to eliminate middlemen and improve competitive position of its

forT TfATY &1 36T 3cUTET & foIT Ueh 31 ol SToTR &1 shleh Taaiferat

A) a—ii, b, c-iv, d-ii

(T) SUHYFAT Hgah R GiATHAT
(s1) ScuTeeh TEhRT AfATTAT
(&) Aot HghRT A AT
() Torars Tgerlt "fAfaan
2 Match the following: - 1
A) spice route i) A negotiable financial instrument
B) Hundi i) Network of roads
C) Peshawar iii) Maritime route
D) Silk Route iv) an important exporting Centre
GEGIGIECEECIMEIIUS
A) TATSHES i) T fadr arereT
B) &aY ii) TSRl T seash
C) Hermax il) TS AT
D) Reeh ¢ iv) ThAgcaqUT e g




B) a—iii, b-i, c-ii, d-iv
C) a—iii, b-i, c-iv, d-ii
D) a—ii, b-i, cHiii, d-iv

Name the partner who does not have interest in the partnership business but lends his
name to the firm.

A) Active partner C) Nominal Partner
B) Sleeping partner D) Secret Partner

39 ASER &l ATH Jd8U [Fadr arsie’y caaary H s 80 g
IfeheT BH T 39T AT ST ¢l

T) afehd defigR ) ATHAT HAENER
{) TN TueT greek 2N Tohe. e
Which of the broad categories of industries covers oil refinery and sugar mills?
(A) Primary (B) Secondary

(C) Tertiary (D) None of these

B NNh ThacaTIR AT A Ao RBIEAA R A TH el M H TR ?
WEIIEES CHELEIGED

(@) g @) 51 T FI5 AL

A factory owner took a fire insurance policy for his factory without informing the
insurance company that he received notice from the electricity department to get the
wiring of the factory repaired. After six months of taking policy, the factory caught fire
due to faulty wiring. Which principle of insurance can be related to the above passage?
(A) Subrogation
(B) Utmost Good Faith
(C) Contribution
(D) Indemnity
Teh hRWTat o ATTeleh o [So1T §IHT hUail hl TATT 3Tl PR & [T 313
(ST QifereT of off foh 38 TorsTelt fasiTeT & hR@Te T aRT I FRFAT & folw
e AT § | T8 ATg I Ul ofel o S1¢, WIS AT a7 I therdT & 3797 ofaT
ATS | SN IRTdG | SIAT T el T AT HaTed 8l Tohdl 67
(T) Ycdqrdel
(&) TRA Hefaard
GIENEEEEE
(&) arfagfe

|dentify the public sector organisation which is a body corporate and set up under a
special act of parliament.

A) Departmental undertaking

B) Government Company

C) Statutory Corporation




D) Joint Stock Company

ATdoTioleh &1 & TG Sl Jgdled i oY Teh hruike T § 3iR
Tac & Ueh 99V ARFIA & dgd Tuig Far = 2

U) faarir 3usA

) EIHERT HYAT

) wifafs @ere

S) TYeF Tieh Yl

Yogita, a business woman, has a Current Account in Punjab National Bank (PNB). Her |1
Current Account shows balance of just Rs.50, 000, while she urgently needs Rs.3,
00,000 to pay off one of her creditors. She approaches PNB to allow her to withdraw Rs.
3, 00,000, using the facility extended by the bank to her due to her credit worthiness.
The Bank agrees to it. Identify the facility which has been provided by PNB to Yogita.

(A) Bank Draft

(B) Bank Overdraft

(C) RTGS

(D)NEFT

eIaaTY ATEAT JNT3TAT T I AATA S (FrUTsT) F ATl WIAT & | SHH
] W el 50,000 T T AV R@Talr &, S 38 379 Uah Selg 1
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Direction (Q.Nos. 8 and 9) There are two statements marked as Assertion (A) and
Reason (R). Read the statements and choose the appropriate option from the options
given below

A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A)

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A)

(C) Assertion (A) is true, but Reason (R) is false
(D) Assertion (A) is false, but Reason (R) is true

Assertion (A) Itis in the long-term interest of a business to assume social responsibility.




Reason (R) Better social relationship improves its public image and prospects of growth
in the long-run.

TdT (T) ATATTSI 3uRclbcd THTAAT Ush SIadTd o Greehlteleh gd &
d
FRUT (3R) Sgd} Ao Y ofd THT H 39eT Adolieid & 3R
faehTer ST HHTET3T & FUR I |

Assertion (A) Life insurance is a contract of indemnity.

Reason (R) According to principle of indemnity, the insured is entitled to recover the
extent of the loss suffered by him, up to the limit of the amount covered by the

BifREwY (U) Shiaet d1AT affaqfd &1 ve 3egae g

FRROT (3TR) &Tfqfct & fetid & 3e]aR, SiffAd eafdd ganT Hax &
aTs TRY 1 HIAT Teh, 3HS @RI U a1 FhdlleT T HAT Teh e
Flel &l §haR ol
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Which of the following is not related to One Person Company?

(A) No person shall be eligible to incorporate more than a One Person Company or
become nominee in more than one such company.

(B) No minor shall become member or nominee of the One Person Company or can hold
share with beneficial interest.

(C) Such company cannot be incorporated or converted into a company under Section 8
of the Act.

(D) Such company can carry out Non-Banking Financial Investment activities including
investment in securities of anybody corporates.

AT & & Pl Th ITFdhTeil & Jad Tal 87

(T) FIs o afFa v & HF YT F AAT I a1 T F 31w
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Rapid Automobiles Ltd. is a well-known manufacturer in the field of e-bikes. The
company makes online transactions for purchase of tyres, battery, etc. from different
business units. Use of internet has given them much wider choice of suppliers and
company finds this online buying very convenient and time saving. Identify the
component of e-business being described above.

A)C2C B) B2B

c)B2C D) Intra-B Commerce

g ifcAeEed fAffes $-a15d & & & e yfdey fAdATar g
haeT [AffesT caraaTas SHEAT ¥ T, dedT 3G 6 WG & fov
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) Ehodr ) dr2dr
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The management of Mars Ltd. manipulated its financial statements to show lesser
earnings so that low rate of dividend can be given. Identify the group whose interest is
being ignored?

(A) Shareholders

(B) Consumers

(C) Society

(D) Government

AT fafAcs & gt of &A 3 G@e & fav 39a fada oz #
BXhT T s oITeITer T &hat &Y &1 Sff Heh| 38 g ol Tgelel
foraes fRdt hr 39a1 &1 ST @ 87
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(@) FATST
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13

Sonia Rana and daughters have been carrying on the business of diamond cutting since
the last three generations in Bhuj, Gujarat. Since Bhuj is prone to earthquakes, the firm
has decided to insure their business premises and inventory with Star Insurance
Company. Which cause of business risks, the company is trying to minimize?




A) Human cause
B) Natural cause
C) Economic cause
D) Other causes

(
(
(
(
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Internal trade can be classified into

A) retail trade only

B) wholesale trade only

C) both wholesale and retail trade

D) export and import

BT SATIR T # gafiepa fara o Tl &
T) shdel GeT SITIR

&) raeT Mes IR

) ek IR e et AR
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Which of the following is governed by Hindu Law Act?
(A) Partnership

(B) Sole Proprietorship

(C) Hindu Undivided Family

(D)Cooperative Society

Arfafl@d & & Hia g Frepr fa@w gar anfdd ¥
(T) TSR

(§) Tehel TATTHCA

(#) feg 3rfaeriora aRar

(3N Fgh wiAfd
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Which amongst the following is not the case for social responsibility

A) Self interest B)Public image

C) Social power D) Short term benefit
Fafafaa & @ &9 a1 graioie 3aieTR—Rcd sl ATHT J6l &
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Profits do not have to be shared. This statement refers to
(A) Company

(B) Sole proprietorship

(C) Joint Hindu family business

(D) Partnership

CITST TS el T HTARIRAT Tl ¢l T hUT HGIAd Pl &
(T) HYair

() Thel TaTT AT

(@) TgFd féq TRaR gaaT

(2) @y
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Shivangi wants to buy a new laptop with latest features and want to sell the old laptop
before buying the new one. So, she listed her old laptop on Quikr.com. She received
good response from her post and was able to sell the laptop at good price. |dentify the
component of e-business being described above.

(A) Cc2C

(B) B2B

(C) B2C

(D) Intra-B

fIaial Felieda At & @y Teh 731 dueid @lear g ¢ 3R
AT @iEet § TEel Qe oUeT @l = Argdl g1 SHOT 3egiel e
q0= ofgeid @l Quikr.com I foee oY fedm| 38 39el Ui & 3red
mfafsear el 3R ag olucia &1 3 HAd | a9 &7 Fa7d7 oA
SR IO $-cTIET & °bceh I gl il
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\Which one of the following is not an advantage of traditional business?
(A) Direct interaction with customer
(B) Low transaction risks than e-business




(C) Opportunity for physical sampling of goods
(D) Ease of going global

rfaf@d & & i a1 v a7 &

ORYRNS HIATT HT ATeT?

(T) IMgh & ATYT TIET 9

(8) S-cgaar AT Jolell H FHH oleleaT STEH
(¥T) ATer & #fifceh et T T

(3) dRgess gt # ITAETAT
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When business firms use eco-friendlymethod of production, then they are performing
social responsibility towards ............ group.

(A) customer (B) shareholder

(C) employees (D) community/ society

S ST e TATAROT & 3fefehel Scdlee] i fafer & 3uir
e &, dr 9 & 9fa AEfSie 3eReIAcd & fAdTgsT a W 8
(T) TEH (&) WRURS

GUETEIY () T | FATS
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Describe any three features of cooperative society.
OR
Define joint hindu family business and its merits.

HgHRT TTATT i fohegl dilel A3 T gofer AT

ar

HgFd fgeq TRaTRer aarg & GReNT HIfTT qur 38 IO
SEIEN
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Explain various (any3) services provided under postal services

STeh TATHT & dgd UGkl &l Silel arell [Affed (P 3) JATHT T
CATEAT Y

Or
Explain the following:-

i) Telecom Services i) DTH i) VSAT

GESIGIECE R IR ELEL
i) CollepieT AfadsT i) 3EWT i) vsaT
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Explain various limitations of E-business

S-cagary $I Affea damt fir sarear ¥

24

Differentiate between private sector and public sectors on the basis of objective,
accountability and sources of capital.

B3EaRd, STatece! 3R ol & Fidl & AR W A6l &7 AR aderfaen
gl & i 3T
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The Government of India has entered into a contract with a private sector company for|
developing a national highway. Under which the company will develop the highway and
charge toll tax from vehicles plying on it. Name the form under which such a project is
undertaken and explain any three of its features.

SR PR A &t fr Fufadi & FFsiiar e TSI ISTAFI &
A &1 ot odr § Sad el Frgelt aoraAnt & AT Sl
Ud 38 W IR dlel digall d JYR gl | dIqqT & 3H YR
careT fIfod Gae 39 aRASer W R gR | 3T dieT faewarnsd|
el off ford|
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Distinguish between Memorandum of Association and Articles of Association on the
basis of:

(i) Significance (i) Objective (iii) Relationship (iv) Necessity
TS AT e vd ag iafae 7 Seetafed Segat # 3mw
R AR faf@u|

i) Agcd i) 3egeT i) Hew iv) 3TTaRIehdr
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It is a public sector enterprises in which Govt. of India held 65% of paid up share capital
and it is registered as per Company Act, 2013. It deals in manufacturing of fertilizer

(A) Which type of public sector enterprise is discussed above?
(B) Write any two characteristics of such organisation.
(C)Write any one limitations of such organisation

g Uh Al &9 Hl 3¢IA [TTH HRT IR &1 65%

1+2+1




Tehdl X Goll &1 3 § 3R T§ hoell HAIH 2013 & ITaR
Goiiehc & 3N g 3 & AT & Hefed &
(V) fFT YR & ATdsifels 817 & 3¢IH I FUX Idl &l 315 g7
() TH TS T s o faAvae faf@u
(@) WY HIrssT I A T AT AfQ@T

Or

Define Global Enterprises. Explain any three features of global enterprises.

deafaer Haraslr s aRenyr §ifS| deafas Farear i ey IR
[IAYAT3TT FT JoTT F|
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Mr Ravi took an insurance policy against his car and after three months he sold it to Mr.
Mohan. The car was stolen from outside of Mr. Mohan’s house. Mr Ravi made a claim to
Insurance company. His claim was rejected on the ground that Mr Ravi was no longer
owner of the car, so he has no Insurable interest and he has no financial loss with the
loss of the car.

A)What does Principle of Insurable Interest state?
B)Was Mr Ravi right in making claim?

C)Who should get the compensation?

ol 318 ¥ 319l R & faveer ves e gifeared) off 3R et 78 o a1e; 3ol
=3 4t AleeT 7 99 T FR AN AeT F R F I A DA S Oy Ay S
(YT YT T STaT fhIT| 357k &Td ! 3 ATHR U WIReT Y feT I3 24T foh
4T T 319 SR & Aol 78T &, SATAT 3e7ert 1S AT A9 o 7181 & 3R
R o I3 A Ieg 1S il JehdlTl =1el g3T &l
U)aﬁmmw%aarmrawm’éﬂ

Or

nkit's warehouse was covered by a fire insurance policy of * 10,00,000, two years back,
his warehouse caught fire. Ankit, immediately called up the nearest fire station and
tarted removing the goods from warehouse in order to save them from fire. He took all
reasonable steps to minimise the loss or damage. As a result, the actual loss by fire to
him was * 3,00,000 which could have gone up to * 7,00,000, if he had not acted as a
prudent person. After scrutiny of the loss, the insurance company handed over the
heque of ™ 3,00,000 to Ankit.

Identify and state the principle of insurance, which was followed by Ankit in the given
ase.

~—




B) mention two other principles of insurance other than above

Rifehd & NI ST 210,00,000 ahT 31136t SIAT Ui & haT foram arm 24T, 1
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29 |ls earning profit the prime objective of a business? Justify your answer by giving
Suitable reasons.
GFIT SITST ShATAT ol cTIHTY T HEY 3¢ 87 3T FROT S 319l 3T
chT gfse RIS

30 [Inspite of numerous advantages, e-business cannot replace the traditional businesses.
Comment
‘S T¥F T 8l & di¢ AT e-[9od WWETd aaa@ T &r
farenfia w8 X 9T 9= faar fod|

31 [Karishma is a sole proprietor. Over the past decade, her business has grown from

operating a neighbourhood corner shop selling accessories such as artificial jewellery,
bags, hair clips and nail art retail chain with three branches in the city. Although she
looks after the various functions in all the branches, she is wondering whether she
should form a company to manage her business better. She also plans to open
branches countrywide.

A) Explain three benefits of remaining in a sole proprietorship.
B) Explain three benefits of converting to a Joint Stock Company.

QAT Uehol TTfAcd I T ATfoeh &1 oo Tah gash H, T A
cel QATETHT & AL HIFA MO, T, g TFad 3R der 3 R
dd ST A & Halold & 30F Iadd d¢l gl IIT dg T
@3t H fAffee &l & d@dr §, 98 A W § & #2138 3794
EITdT Sl dga¥ &I T alad & folU U &Ual Il AMgT| I§
P H AT@IT Gl I 8 AT Fa1 & 2




(T) Tehel TATTACA H ot (g1 o dilel lT#T hl SATEAT HITAT|
() TgFT TCheh HUAT H IRATCI Blo o el o1l T AT HIfST|
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Monica Khanna is a jewellery designer. She started her career from the scratch and took
advanced designing course at jewellry product development center. On the completion
of the course, she got a job at Gitanjali Gems. Being an experienced jewellery designer,
Monica Khanna focuses on maintaining the originality and creativity of the ornaments
that are custom designed and developed by heron the basis of the given information
about Monica Khanna,

A) Identify and explain the type of economic activity that Monica Khanna is engaged in.

B) Also mention and explain any two other economic activities other than the above.

TR Weadl Teh ool 3181 81 3oglel 3eT hRIT T Y& fehel
T Y T 1 3R Yo Mg 2aeruie dex & vEaid RSt s Hiy
FeraIT | ST X7 el TR 3o AMNcliot ol o138 3 afiend] Al IS5 | Teh 3737l
ﬂaﬂ%&wﬁﬁ%mﬁ RIPT GeredT 3o7 gt o FMfFar 31
ATcHS AT I §eITT IWeT U €T higd Ll & Sl 3eToh GaRT hEcH
ot 31X A iid fre 31T & | AYfreT @eelT & SR & &) 918 TR &
BT 9,

T) ATART WoadT ThT YRR T 1T TATIT H HoldeT &, 3o Ugdlel AT
HSTT |

/) 3WIFT & 3ferar fheer ar 37 3nfTe afafafaat 1 3cc@ F|
Or

A) Ramesh has a computer shop. He sells and repairs computers. Name the type of
economic activity in which Ramesh is engaged and explain its any three characteristics.

B) Also mention any two other economic activities other than the above.

U)RAL T TG & Gohlel &1 T8 Hegel &l FFHAT Td foshr awdar
| 39 3T fhar &1 a1 f@T Sa® @ g §1 39T 3
A3 i sarear |

BY) 39Red & 3Tarar fheel ar 39 e afafafeat &1 e H
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A) Sahil works with Life Insurance Corporation of India.

i) Identify the sector in which Sahil is employed.
i) Define the type of organization he works for.

3+3




B) Explain Departmental Undertaking and its limitations.

U) @ifieel AR Shaed AT R F Ty F1H Far B

i) 3T & T ggard H ST aifger sRRA B

i) 3 TS & YR I IRANT L [FaF AT a8 FH F gl
&) faameiar 3gshar 3R saehr AT S caredr #i|
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A vehicle manufacturing company had adopted the following practices:

A) Only thosevehicles will be used by the company which is environment-friendly.
B) There will be discharge of harmful wasted only after their proper treatment.

C) Pollution level of every vehicle will be maintained as per international standards.
ldentify and explain the aspect of business and its need.

OR

What is the meaning of social responsibility? Write social responsibility of business
towards any two different interest groups.
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